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QUESTION 1

When reviewing a customer\\'s database configuration, you find thatOPTIMIZER_USE_SQL_PLAN_BASELINESis set
asTRUE. What does the Optimizer do? 

A. compares plans that itdevelops with accepted plans in baselines 

B. develops plans and adds them to baselines as verified 

C. doesn\\'t develop an execution plan, but uses an accepted plan from baselines 

D. doesn\\'t develop an execution plan, but uses enabled plans in the baseline 

Correct Answer: B 

 

QUESTION 2

Starting with Oracle Database 11gR2, which are two additional partitioning capabilities that aid Oracle Database
Performance and Tuning? 

A. Hash Partitioning 

B. Reference Partitioning 

C. Composite Partitioning 

D. Interval Partitioning 

E. Disk Partitioning 

Correct Answer: CD 

 

QUESTION 3

SQL Access Advisor takes database workload as input and recommends adding various access structures. Which three
does it consider the impact of adding when it generates recommendations? 

A. Materialized views 

B. Indexes 

C. Partitions 

D. Tablespaces 

E. V$ performance views 

F. Hints 

Correct Answer: BDE 
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QUESTION 4

An Oracle Database customer\\'s VP of Development mentions that they\\'ve moved to AGILE development
methodology and DevOps requires an ability to view, test, or validate performance in their own development
environment. Which two do you implement? 

A. Oracle Application Infrastructure Tester 

B. Oracle Application Testing Suite 

C. SQL Developer 

D. Oracle Real Application Testing 

E. APEX and SQL Developer 

F. Oracle Testing Pack 

Correct Answer: BD 

 

QUESTION 5

When performing performance analysis of Oracle Real Application Cluster (RAC) databases, what are three Automatic
Database Diagnostics Monitoring (ADDM) analysis modes that are available? 

A. Database 

B. Instance 

C. Partial 

D. Sample 

E. Average 

Correct Answer: ABC 
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